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For the life of me, | don't remember

63.A Telling people what to do: The Imperative

Owanor

FpammaTuka

CYpox

XoTb y6én, A He nomHo  For the life of me, | don’t remember

Hartdama |1 |3xapaBcryii, JI€Hs, kak mend? Hi, Lyonya, how'’s it going?

JIéns 2 | He copammusaii. Don’t ask.

Harama |3 |Yto ¢ T000#? Uto ciyurmiocs? What's wrong (with you)? What happened?

JIéus 4 | IloxdamyiicTa, HE TOBOPU Tak TPOMKO. 1 010BA Please don’t talk so loud. My head really hurts.

y>KaCHO OOJIHT.

Harama (¢ |M3Buni. A rae el Obi1 Buepa? Thl onsiTh ObUT B Sorry (forgive me). Where were you yesterday?
7 | TI? We're you at TI again?

JIéns 8 | Her, x64emnb Bepb, X0Uelllb He BePb, sl HE ObUT B | No, believe it or not [ wasn’t at TL. I was at a
9 | TI. 51 611 Ha cBAABLOE. Mosi ABOIOpOAHAsE cecTPa | wedding. My (female) cousin got married.
10 | BEIXOJIHJIA 3AMYK.

Hatama |11 | M TBI, KOHEYHO, HATTAJICS. And of course you got drunk.

JIénn 12 | 51 He BuHOBAT. Bce kpuudnm «meid A0 fHa» «1iedt | It’s not my fault. (I am not guilty.) Everyone
13 | mo nHa». Kak e s Mor He muTh? was yelling ‘Chug! Chug!” How could I not

drink?

Hatama |14 | A CKOJIBKO THI BBIITHII? How much did you drink?

JIénn 15 | XoThb yo0€ii, st He noMHI0. Chénaii MmHe, For the life of me, I don’t remember. Do me a
16 | moxkanyicra, omoKéHue, 3aKpoii okHo. MHe favor please, (and) close the window. I'm
17 | OY4eHBb XOJIOIHO. really cold.

Harama |18 | A MHe Xopomio. 1 feel just fine.

JIénn 19 | Oi1, romnosa 6omut. [AAii MHe, moXxanyiicTa, Oh, my head hurts. Please give me the aspirin.
20 | ACUPWH.

CnoBapb

8 | xOdem s Beph, XOUCITh HE BEPh

believe it or not (Lit.: if you want, believe; if you want, don’t believe)

9 |cBanpOa (Ha cBampOeE)

wedding

9 | ZBOFOpONIHAS cecTpa
JIBOIOPOJIHEIHN OpaT

(female) cousin

(male) cousin

11 | HamuBA+...cs // get drunk
[V X
{Hanpii+ ...cs1 / Hamd+...Cs1}
12 | BUHOBAT, -a, -bI guilty
12 | méii(re) mo aHa! chug! (lit.: drink to the bottom! — Imperative of {Tbii+ / mii+}

XOTb yO¢ii(Te)

for the life of me (Lit.: even [if you] kill me)

nénau+ // c-

KOMY OHOJDKEHUE | do someone a favor
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16 | 3akpoii(te)!

3aKpBIBAii+ // {3aKkpOii+ / 3aKpEI+}

close (Imperative)

19 | maii(te) !

give (Imperative of natp)

20 | aciupyH

Guess

63.A Telling People What To Do: The Imperative

We’ve seen many examples of the Imperative, right from the the very first day of the course. Some old favorites:

N3Bunmn(Te)

He cnpammBaii!

Ckaxu(te)...

3npéBcTByHi(Te)!

He ye3xaii!

Let’s see how to form the Imperative. Basically, there are 2('2) endings, the choice of which depends on the final
consonant of the stem. The crucial question: Is the final stem consonant (sound) i?

e Verbs whose stem ends in # (or 1 + vowel) — Ilen, néaun, newn!

If the final consonant of the Non-Past (Present) stem is ii, that’s the Imperative. Add -Te (never stressed) for

Plural/Formal commands):

NON-PAST STEM IMPERATIVE
guTaii+ // mpo- (ipo)umraii(te)
-{A}ii+ verbs | nywmaii+ // no- (o) nymaii(te)
JOBepsIi+ JoBepsii(Te)
-eii+ verbs uMEit+ uméit(te)
Oonéii+ He OonéHi(Te)

61.A.1

Use the Left-Hand Stem for Double-Stem Verbs

For double-stem verbs we use the stem on the /eft, the same stem that is used for the Non-Past (Present).
This also applies for -{O}Ba+ verbs, which technically are double-stem verbs. The Non-Past stem ends in - {U}i:

NON-PAST STEM

IMPERATIVE

{-oii+/-bI+}

{MO¥i+...cs / MBI+...cs1} // TO-

(mo)motics; (mo)moiTeCh

verbs {moit+"/ mé+} // c- (c)noii(te)
-{O}Ba+ verbs | Tamuyii+ (tanuesa+) // mo- (mo)raniyi(re)
(-{U}ii+) TUIrOik+ (TWIEeBA+) spit TUTIOM(TE)

It turns out that 3apaBcTByii(Te) is actually a command from the verb 3apaBcTBOBa+, be well,; thrive. So Russians
aren’t just saying Hello but rather Thrive!
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What about double-stem verbs like {mpii+ / mi+}? There’s no vowel in the Non-Past stem!!

It’s cluster-buster time, which gives you néii(te). So, whenever you walk into a bar, the 6apmen will say ITEH!
And at parties we recommend you yell out (to others):

MNMen po gHa! lNewn go gHa! Chug! Chug!

Also, the verb pour is {mpii+ / mi+}. Just remember Jleid, 1émm, aeii! The verb kill is {y6wii+" / yon+}, from which
we get the expression xoTs y0éii for the life of me, literally, even (if you) kill [me].

NON-PAST STEM IMPERATIVE
i/ {npii+ / TIik+ ) néi(re)
{-I)I/‘I,:rb;I/H} { i+ / TP} néi(re)
{yObli+ / you+} yoéii(Te)

@ Form the Imperatives. Use the familiar form unless noted.

1. uwmraii+ (BbI) 2. nmymaii+ 3. mpu3HaBAii+...csA (BBI) 4. HE XKaIoBa+..Cs
5. cnobi+” (BbI) 6. {3aKkpoii+/ 3aKpbI+} 7. {mbii+ / o} 8. TaHIEBA+ (BbI)
9. He kpacHét+ blush 10. moxymaii+ (BbI) 11. {mMO¥i+...ca/ MBI+...ci} 12, {yObit'+/ yOu+}

e Stems in n{A} (spelled Vowel + £)

The above rule about Verbs in ii also applies to stems that end in i#{A}, spelled Vowel + s (cTosi+ 6osi+...c11, etc.).
In this case, you simply remove the basic vowel {A} and reveal the hidden ii. In other words, if the final
consonant sound of the stem is i, that’s the Imperative form. (Now do you see why we taught you this basic
vowel stuff?)

NON-PAST STEM IMPERATIVE

cTosi+ (cToit {A}) ctoi(te) (also means ‘Stop!”)

- 60s+...ca 00tics (0oiiTecs)

H{A} verbs
cmesi+...co laugh cMméiics (cméiTech)
nasi+ bark (dog) He J1aii(Te)

% Form the Imperatives:
1. crosi+ 2. He s+ 3. He cMes+...cq 4. He 00si+...cq
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e Other Rules: Non N-Verbs: U(TE)

Leaving aside stems whose final consonant is ii, the Imperative is a Vowel ending: -n1(Te) — sort of. It depends on
stress. If the stress is on the ending (or the final vowel of the stem), add stressed —i(Te) (always the soft

indicating vowel, never bl).

NON-PAST STEM

IMPERATIVE

End-stressed — Imperative in -11(te)

TOBOpH+
*cMoTpé+ // Tio-
Kpu4a+ // 3a-
mpuHEC+
KUB+
*¥T10MOT+"
**nék+" // uc-
Bpa+ // Ha-
BEpHY+

rOBOpPH(TE)
(mo)cMoTpu(Te)
(3a)xpuun(Te)
MpUHECH(TE)
KUBU(TE)
MOMOTH(Te)
(uc)nexn(re)
(ma)Bpu(Te)
BEpHHU(TE)

* Verbs with shifting stress keep the stress on the ending.

**Note that r (and k) do not mutate. See more below on consonant mutation.

Since this Imperative ending is a vowel ending, for Double-Stem verbs we use the stem to which vowel endings
are attached, i.e. the stem ending in a consonant (on the left):

NON-PAST STEM

IMPERATIVE

End-stressed — Imperative in -11(te)

@ Form the Imperative from the following verbs:

1. nexé+
X
4. cnopocu+
7. yOBIOHY+...CS

X
10. omor+
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npoBEm+" (BbI)

{Gep+'/ Gpa+} oepwn(te)
{BO3bM+"/ B35+ } BO3bMH(TE)
{HaynH+'/ Ha4a+} HavHU(TE)
BEpHY+...CsI (BBI) 3. pas6ymi-
MTO3BOHU+ 6.
{Haun+'/ Haud+} (BBI) 9. cMoTpé+
. TIOBEepHY+ (BBI) 12.

{pum+"/ pwHs +}
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o If the stress is ALWAYS on the stem add -b(TE)

NON-PAST STEM IMPERATIVE
Stem-stressed — Imperative in -b(Te)
BEpH+ BEPH(TE)
BCTAH+ BCTAHB(TE)
né3+ climb né3n(Te)
moCcTaBu+ place CTaBb(TE)
TIIagu+ rIaab(Te)
{can+ / cém+} sit down cAnn(Te)
{6yn+ / Gbi+} 6ym6(Te)
MOKUHY+ desert MMOKUHB(TE)
gb Form the Imperative from the following verbs:
1. roréBu+ 2. BCTaH+ 3. O6p6cu+(BHI)
4. BcTpeTH+ 5. {msir+/ né€r+} (BBI) 6. moctaBu+ place
7. TO3HAKOMHU+...CH 8. oTBéTH+ answer 9. {6yn+/Opi+} (BEI)

e Stem-stressed verbs that have > 1 consonant preceding the final vowel: Add -u(te)

If, after chopping off the vowel from a stem-stresed verb, you are faced with two consonants, add unstressed
u(te) instead of —b(Te). It seems that a double consonant + b(Te) is just too much of a cluster.

NON-PAST STEM IMPERATIVE

Stem-stressed but with >1 consonant before final stem
— Imperative in -u(te)

MOMHH-+ MOMHH(TE)
KOHIH-+ KOHYH(TE)
YACTH+ qrcTU(Te)
MIPUBBIK[HY |+ MIPUBBIKHU(TE)

63-5

Form the Imperative from the following verbs. Not all the verbs here behave the same. Any of
the types described above may appear here.

J4 4 ~ 3 X
BCIIOMHU+ remember; recall 2. noymai+ 3. {meii+/ mu+} (BBI)
HE 00sI+...CH 5. ugucTtu+ (BBI) 6. He Oonéii+

r X r
NPUBBIK[HY |+ 8. nepxa+ 9. TaHUEBA+ (BBI)
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e Consonant mutation in the Imperative

Even though the Imperative creates ¥+V truncation, only I*'-conjugation -a+ verbs like nuca+, ckaza+ have
mutation. In other words, only verbs that have consonant mutation throughout the Non-Past also have mutation
in the Imperative. Second-conjugation -u+ and -e+ verbs only mutate in the 1sg (s-form), so they DON’T mutate
in the Imperative.

NON-PAST STEM IMPERATIVE

-a+ verbs: Consonant mutation in Imperative
nuca+ // Ha- (ma)mumu(Te)
cKaza+ ckaxu(Te)
ucKa+// mo- look for (mo)umu(re)
ueca+ brush yemi(Te)

-u+ and -e+ verbs: NO consonant mutation in

Imperative

KT+ kyn#(te) (although kyro)
CIIPOCTH crpocr(Te) (although cripory)
MO0 mo6u(Te) (although ro6iio)
rIsiné+ glance risima(Te) (although risky)
Tepme+ tepmu(te) (although Tepmio)

Here’s a really nice example: the stem of cry is madka+. Not only do we get mutation (because it’s an -a+ verb),
but since it’s a stem-stressed verb, the Imperative ending is -b(Te): madun(Te).

gb Form the Imperative from the following verbs. Again, this is a mixed group.

X X X
1. cBs3a+ connect 2. Kymu+ 3. wHamwmcar (BBI)
4. He cepmp+ 5. mryTi+ (BbI) 6. TmaKa+
X X ,
7. mompoci+ 8. cka3zar (BBI) 9. w™aza+ spread

e Exceptions in the Imperative

The three double-stem verbs that have -aBaii+ in the Past/Infinitive stem use that stem (on the right), and not the
Non-Past stem like every other double-stem verb) to form the Imperative:

PAST/INFINITIVE STEM IMPERATIVE
-aBaii+ verbs

{BCcTaii+" / BcTaBaii+} BCTaBaH(Te)

{maii+" / naBaii+} JaBan(Te)

{y3Haii+" / y3HaBaii+} y3HaBai(Te)
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The irregular verbs xoté+ and mor+ don’t normally have an Imperative form, and neither does Bie+.

pammaTuka

Also: natp > naii(te)

IRREGULAR VERBS

IMPERATIVE

JIaTh / OTIATH / IPOJATH

naii(re) / otna(re) / mpoaaii(re)

e Aspect in the Imperative

As the general rule, use Perfective for positive commands, Imperfective for negative commands.

+ PERFECTIVE

— IMPERFECTIVE

OTkpOii(TE) OKHO.
Jlaw(te) MHE AEHBIH.
Kymu oty kHATY.
[Ipumi acriupyH.

He oTkprIBait OKHO.
He nagaii(te) emy néupru.
He nokymaii oty KHATY.

He npunanmait actimpu.

Bo3bmu 1éHbr.

He 6eptt néunru.

Of course if the verb does not have a Perfective (many State/Activity verbs) the Imperfective is used for positive
commands: 3anumaiica! Study!

There are a number (a rather large number) of exceptions to the +Perfective / —Imperfective rule. We’ll discuss
them as they come up throughout the rest of the course.

@ Translate:

Bring a cake. Don’t bring anything.

Give her the money. Don’t give Sasha the money.
Close the window. Don’t close the door.

Don’t be afaid.

N vn» =
® > B

Sara, be careful!
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STEM IMPERATIVE
1) Stems ending in -i (or it+Vowel): | unTaii+ quTai(Te)
keep -ii(Te) TaHIy i+ TaHIyH(Te)
cMesi+...co cMérics
CTOSI+ cToH(Te)
2) End-stressed stems: add -#(te) TOBOPH+ TrOBOpPHU(TE)
TIOMOT+ TIOMOTH(Te)
BEpHY+ BEpHU(TE)
* Mutation only in -a+ verbs Hca+ TUIIA(TE)
KyTIi+ Kymh(Te)
3) Stem-stressed stems: add -b(Te); BEpU+ BEphH(TE)
Consonant cluster: add -u(Te) OMHU+ OMHHU(TE)
+ PERFECTIVE — IMPERFECTIVE

OTkpO#i(Te) OKHO.

Jlait emy xirroum.

He oTkprIBaii OKHO.

He naBaii eil néupru.

(Another) Summary of the Imperative — Endings and Examples (V=Vowel, C=Consonant)

Vii/Te

Tymaii/Te
cToii/Te

n/te

MEKH/Te
rOBOpH/TE

" b/TE

oyab/Te
BCTAHbB/TE

"CCu/te

OMHU/TE
HWCUYE3HU/TE
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63-1 ypok — [lomawiHee 3agaHue Nma

,gj YnpaxHéHue 1 Tell the people to do the opposite of what they want:

1. Marma He X04eT MBITh TIOCY 1y dishes.

2. Bépa He xOueT 3aHUMATHCS.

3. MBbI XOTAM OTKPEITH OKHO.

4. Burs x0uer ciymaTh TpOMKYIO MY3bIKY.

5.  Mrma He XO4eT MHUTh BOJKY.

6. Pura He XO4eT BCTAaBATh.

7. Jléna He X04eT MOKYIATh HOX.

8. Cama He X04eT MHUCATH COYNHEHHE.

9. bBops ue x04er momorars Jlarme.
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10. KanHa He XOUeT JaBATh €My aCITUPHH.

,gj YnpaxHéHue 2 Make up 2 situations similar to the preceding exercise. After He xoTe+ only an
Imperfective Infinitive is found.

,gj YnpaxHéHue 3 Translate the first part and finish the sentence as you wish:

1. Believe it or not...

2. I got drunk at the party and...
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